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. 3P FG 2P FG FT PF REBOUNDS
No EF 4 PTS X W X W N T TorTor T7or] TO | AS | sT | BS MIN
A[*|mr 5 9 1 2 2 7 2 4 0 4 9] 13 1 1 0 0 33:43
5| |2 )1l BEE 25 1 7 6] 16| 10| 11 3 51 1 16 3 4 0 0 36:40
6| x|=i% — 19 1 7 5 18 6 8 2 3 71 10 1 1 0 0 38:26
7| |XE &t 6 0 3 3 4 0 0 0 1 1 2 2 0 1 0 21:22
8| *[it k= 14 2 3 3 8 2 2 4 2 7 9 2 2 1 0 40:00
9| | BEE 3 1 3 0 0 0 2 1 0 1 1 0 0 0 0 11:00
10| * |3 £ 2 0 3 1 3 0 0 0 3 1 4 0 3 2 0 18:49
11| |#0mE X - - - - - - - - - - - - - - - DNP
12| [tRE &PH - - - - - - - - - - - - - - - DNP
13| |E#E &3t - - - - - - - - - - - - - - DNP
4| |FE kE A - DNP
15 & &= - - - - - - - - - - - - - - - DNP
16| |+5 &E A - DNP
17| [#E&cK &k - - - - - - - - - - - - - - - DNP
18| [E2% 0E A - DNP
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T |28 KIr - - - - - - - - - - - - - - - DNP
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3| Ak E 2 3 0 0 0 0 3 1 0 1 0 0 3 0 9:02
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7| |=5# SKER - - - - - - - - - - - - - - - DNP
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1] x| =45 1215 16 2 6 4 9 2 2 5 0 6 6 1 1 0 0 39:52
12| [=/ & 2 0 0 1 2 0 0 0 0 2 2 1 4 1 0 27:33
13| £k &= 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0:08
14| %58 RE 0 0 0 0 0 0 0 2 1 0 1 0 0 0 0 2:35
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23| |&FH &K 0 0 0 0 3 0 0 0 1 1 2 0 0 0 0 9:52
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88| |hnEk WK - - - - - - - - - - - - - - - DNP
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33.3% 35.8% 70.0%
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